Contract 24-26 - Annual Co	ncrete Rehabilitat	tion (#9224359)		Г				
Owner: Oshkosh WI, City o								
Solicitor: Oshkosh WI, City								
oonenon oonnoon (11) eng	, 01							
Bid Opening: 08/19/2024 11	1:00 AM CDT							
					Al Dix Co	ncrete Inc	Vinton Constru	ction Company
					401 Gertri		vinton constru	cuon company
					Kaukauna			
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
Section 1	item couc	nem Description	Collin	Qualitity	Chieffiee	\$431,921.00	Child Fride	\$536,764.31
Section 1		Mobilization; complete as				¢101,9 <b>21.00</b>		4000,701.01
	1050	specified	Lump Sum	1.00	\$25,000.00	\$25,000.00	\$69,500.00	\$69,500.00
	1000	Removing concrete and	Dunip Suni	1.00	\$20,000100	\$20,000,000	\$07,000100	\$07,000.00
		asphalt sidewalk and						
		driveway; complete as						
	1120	specified	Square Feet	740.00	\$1.00	\$740.00	\$2.00	\$1,480.00
		Unclassified excavation;	- 1		+	4	+=	+ -)
	1200	complete as specified	Cubic Yards	380.00	\$20.00	\$7,600.00	\$0.01	\$3.80
		Excavation special						
		(paving); complete as						
	1220	specified	Tons	57.00	\$20.00	\$1,140.00	\$10.00	\$570.00
		7" concrete pavement						
		HES removal and						
		replacement; including						
		sawing; pavement ties;						
		dowel bars; bond breaker;						
		integral curb and fine						
		grading; turf restoration;						
		and traffic control;						
	1309	complete as specified	Square Yards	1,450.00	\$75.00	\$108,750.00	\$98.49	\$142,810.50
		8" concrete pavement	-					
		HES removal and						
		replacement; including						
		sawing; pavement ties;						
		dowel bars; bond breaker;						
		integral curb and fine						
		grading; turf restoration;						
		and traffic control;						
	1319	complete as specified	Square Yards	3,100.00	\$80.00	\$248,000.00	\$89.37	\$277,047.00
		Concrete pavement gaps;						
	1334	complete as specified	Each	1.00	\$1,000.00	\$1,000.00	\$0.01	\$0.01
		Adjust manholes and						
		inlets; complete as						
	1360	specified	Each	11.00	\$500.00	\$5,500.00	\$475.00	\$5,225.00
		Turf restoration;						
	1370	complete as specified	Square Yards	122.00	\$15.00	\$1,830.00	\$15.00	\$1,830.00
		Restore gravel						
		driveway/apron;						
	1372	complete as specified	Square Yards	11.00	\$8.00	\$88.00	\$20.00	\$220.00

Contract 24-26 - Annual Co	ncrete Rehabilita	tion (#9224359)						
Owner: Oshkosh WI, City								
Solicitor: Oshkosh WI, City								
oonenon oonkoon vii, en	, 01							
Bid Opening: 08/19/2024 11	1.00 AM CDT							
biu opening. 00/19/20211								
				ł – – ł –	Al Dix Con	croto Inc	Vinton Construc	tion Company
					401 Gertruc		vinton Construc	company
Castian Title	Item Colle	Item Description	11- (M	Owentites	Kaukauna, V		Halt Dalar	Teter de a
Section Title	Item Code	Item Description Cold weather covering	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		0						
		(concrete pavement) -						
		single visquine; complete						
	1380	as specified	Square Yards	680.00	\$2.00	\$1,360.00	\$3.00	\$2,040.00
		Cold weather covering						
		(concrete pavement) -						
		double visquine;						
	1382	complete as specified	Square Yards	680.00	\$2.00	\$1,360.00	\$4.00	\$2,720.00
		Up-charge for late season						
		cold weather concrete						
		pavement; complete as						
	1390	specified	Cubic Yards	145.00	\$15.00	\$2,175.00	\$15.00	\$2,175.00
		6" concrete sidewalk/						
		driveway/ramp (HES)						
		with 3" CABC and						
		grading; complete as						
	1514	specified	Square Feet	194.00	\$10.00	\$1,940.00	\$1.00	\$194.00
		Cold weather covering	1					
		(sidewalk) - single						
		visquine; complete as						
	1580	specified	Square Feet	30.00	\$0.25	\$7.50	\$2.00	\$60.00
		Cold weather covering	- 1					
		(sidewalk) - double						
		visquine; complete as						
	1582	specified	Square Feet	30.00	\$0.25	\$7.50	\$3.00	\$90.00
	1562	Up-charge for late season	Square reet	50.00	φ0.20	\$7.50	45.00	φ30.00
		cold weather concrete						
		sidewalk; complete as						
	1590	specified	Cubic Yards	5.00	\$15.00	\$75.00	\$15.00	\$75.00
	1390	Sawing existing	Cubic Talus	5.00	\$15.00	\$75.00	\$15.00	\$75.00
		pavement; complete as						
	1700		Liner Fred	142.00	¢4.00	¢= ( 0, 00	¢2.00	¢ 4 <b>0</b> ( 00
	1700	specified Base aggregate dense; 1-	Linear Feet	142.00	\$4.00	\$568.00	\$3.00	\$426.00
	1001	1/4"; complete as	Τ.	500.00	#1= 00	## F00 00	#0F 00	
	1801	specified 4" asphaltic surface LT	Tons	500.00	\$15.00	\$7,500.00	\$35.00	\$17,500.00
		with 6" CABC and						
		grading; complete as						
	1916	specified	Square Yards	62.00	\$90.00	\$5,580.00	\$79.00	\$4,898.00

Contract 24-26 - Annual Conci		(,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,						
Owner: Oshkosh WI, City of								
Solicitor: Oshkosh WI, City of	E							
Bid Opening: 08/19/2024 11:00	AM CDT							
					Al Dix Co	ncrete Inc	Vinton Construction	on Company
					401 Gertru	ide Street		
					Kaukauna,	, WI 54130		
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Asphaltic cold weather						
		paving up-charge;						
	1918	complete as specified	Square Yards	10.00	\$20.00	\$200.00	\$25.00	\$250.00
		Furnish; install; maintain;						
		and remove Type D						
		modified inlet protection;						
	2508	complete as specified	Each	50.00	\$150.00	\$7,500.00	\$125.00	\$6,250.00
		Sediment removal - Type						
		D modified inlet						
		protection; complete as						
	2510	specified	Each	50.00	\$50.00	\$2,500.00	\$10.00	\$500.00
		Furnish; install; maintain;						
		and remove stone bag;						
	2516	complete as specified	Each	60.00	\$25.00	\$1,500.00	\$15.00	\$900.00
Bid Total:						\$431,921.00		\$536,764.31

Contract 24-26 - Annual Co	oncrete Rehabilitat	tion (#9224359)		Г				
Owner: Oshkosh WI, City		lion (#9 <b>=1</b> 009)						
Solicitor: Oshkosh WI, City								
Solicitol. Oslikosli VI, Cit	y 01							
Bid Opening: 08/19/2024 11	1:00 AM CDT							
					Cornerstone	Pavers, LLC	LaLonde Cor	tractors. Inc.
					controlone		LaLonae con	
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
Section 1						\$619,565.90		\$623,597.68
		Mobilization; complete as						
	1050	specified	Lump Sum	1.00	\$25,000.00	\$25,000.00	\$63,803.70	\$63,803.70
		Removing concrete and						
		asphalt sidewalk and						
	1100	driveway; complete as	с <b>Б</b> .	= 10.00	<b>*</b> 0.00	AT 000 00	40.0F	<b>*** ***</b>
	1120	specified	Square Feet	740.00	\$8.00	\$5,920.00	\$3.05	\$2,257.00
	1200	Unclassified excavation;	Cubic Varda	380.00	\$22.00	\$8,360.00	\$38.40	¢14 E02 00
	1200	complete as specified Excavation special	Cubic Yards	380.00	\$22.00	\$8,360.00	\$38.40	\$14,592.00
		(paving); complete as						
	1220	specified	Tons	57.00	\$20.00	\$1,140.00	\$37.51	\$2,138.07
	1220	7" concrete pavement	10115	57.00	\$20.00	φ1,140.00	\$57.51	\$2,150.07
		HES removal and						
		replacement; including						
		sawing; pavement ties;						
		dowel bars; bond breaker;						
		integral curb and fine						
		grading; turf restoration;						
		and traffic control;						
	1309	complete as specified	Square Yards	1,450.00	\$115.95	\$168,127.50	\$104.45	\$151,452.50
		8" concrete pavement		-,	+	+	+	+)=
		HES removal and						
		replacement; including						
		sawing; pavement ties;						
		dowel bars; bond breaker;						
		integral curb and fine						
		grading; turf restoration;						
		and traffic control;						
	1319	complete as specified	Square Yards	3,100.00	\$121.03	\$375,193.00	\$110.97	\$344,007.00
		Concrete pavement gaps;	-	1				
	1334	complete as specified	Each	1.00	\$1,200.00	\$1,200.00	\$1,237.33	\$1,237.33
		Adjust manholes and						
		inlets; complete as						
	1360	specified	Each	11.00	\$600.00	\$6,600.00	\$689.00	\$7,579.00
		Turf restoration;						
	1370	complete as specified	Square Yards	122.00	\$10.00	\$1,220.00	\$10.00	\$1,220.00
		Restore gravel						
		driveway/apron;						
	1372	complete as specified	Square Yards	11.00	\$15.00	\$165.00	\$57.10	\$628.10

Contract 24-26 - Annual Cor	ncrete Rehabilita	tion (#9224359)		Г				
Owner: Oshkosh WI, City o								
Solicitor: Oshkosh WI, City								
oonenon: oonkoon vvi, ery								
Bid Opening: 08/19/2024 11	·00 AM CDT							
bia opening. 00/15/202111								
					Cornerstone P	Paware IIC	LaLonde Con	tractors Inc
					Conneisione i	avers, LLC	LaLonde Con	litaciois, inc.
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Cold weather covering		~~~~				
		(concrete pavement) -						
		single visquine; complete						
	1380	as specified	Square Yards	680.00	\$3.00	\$2,040.00	\$0.01	\$6.80
	1000	Cold weather covering	oquare raras	000.00	40.00	\$ <b>_</b> }010.00	40101	\$0.00
		(concrete pavement) -						
		double visquine;						
	1382	complete as specified	Square Yards	680.00	\$4.50	\$3,060.00	\$0.01	\$6.80
	1002	Up-charge for late season	oquare raras	000.00	¢1.00	\$0,000.00	40101	\$0.00
		cold weather concrete						
		pavement; complete as						
	1390	specified	Cubic Yards	145.00	\$10.00	\$1,450.00	\$25.00	\$3,625.00
		6" concrete sidewalk/			*	, ,		1-,
		driveway/ramp (HES)						
		with 3" CABC and						
		grading; complete as						
	1514	specified	Square Feet	194.00	\$7.60	\$1,474.40	\$15.85	\$3,074.90
	1011	Cold weather covering	oquarereet	17 1100	47.00	\$1717 1110	\$10.00	\$0,07 100
		(sidewalk) - single						
		visquine; complete as						
	1580	specified	Square Feet	30.00	\$2.00	\$60.00	\$0.00	\$0.00
		Cold weather covering	- 1		+=		+	
		(sidewalk) - double						
		visquine; complete as						
	1582	specified	Square Feet	30.00	\$3.00	\$90.00	\$0.00	\$0.00
		Up-charge for late season	- 1		40.00		+	40000
		cold weather concrete						
		sidewalk; complete as						
	1590	specified	Cubic Yards	5.00	\$12.00	\$60.00	\$25.00	\$125.00
		Sawing existing			+-=		4-0000	+
		pavement; complete as						
	1700	specified	Linear Feet	142.00	\$3.00	\$426.00	\$5.35	\$759.70
		Base aggregate dense; 1-				,		, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
		1/4"; complete as						
	1801	specified	Tons	500.00	\$20.00	\$10,000.00	\$35.43	\$17,715.00
		4" asphaltic surface LT				. ,	,	. ,
		with 6" CABC and						
		grading; complete as						
	1916	specified	Square Yards	62.00	\$65.00	\$4,030.00	\$84.19	\$5,219.78

Contract 24-26 - Annual Conc	ete Kellabilitat	1011 (#9224339)						
Owner: Oshkosh WI, City of								
Solicitor: Oshkosh WI, City o	f							
3id Opening: 08/19/2024 11:00	AM CDT							
					Cornerstone	Demore LLC	LaLonde Contractors, Inc.	
					Cornerstone	ravers, LLC	LaLonde Contr	actors, inc.
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Asphaltic cold weather						
		paving up-charge;						
	1918	complete as specified	Square Yards	10.00	\$5.00	\$50.00	\$25.00	\$250.00
		Furnish; install; maintain;						
		and remove Type D						
		modified inlet protection;						
	2508	complete as specified	Each	50.00	\$65.00	\$3,250.00	\$65.00	\$3,250.00
		Sediment removal - Type						
		D modified inlet						
		protection; complete as						
	2510	specified	Each	50.00	\$1.00	\$50.00	\$1.00	\$50.00
		Furnish; install; maintain;						
		and remove stone bag;						
	2516	complete as specified	Each	60.00	\$10.00	\$600.00	\$10.00	\$600.00
Bid Total:	2310	compicte as specified	Lati	00.00	\$10.00	\$619,565.90	\$10.00	\$623,597.68